Subject: Re: Pi 3-way crossover
Posted by Wayne Parham on Tue, 20 Mar 2007 17:48:23 GMT
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a very seamless transition because the crossover point is so low. You can move the crossover
point up some, which will reduce IMD in the Alpha 8 proportional to the amount you've moved the
crossover point up. This requires an electronic crossover between mains and subs. But I'd go
with the simpler solution, because IMD isn't bad as it is, and to improve it by a significant amount
would require an inappropriately high crossover point.
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